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Personality Psychology (50%)

Explaining the following terms (3 points each)

1. Q-sorttechnique

2. Unconditioned stimulus vs. conditioned stimulus

3. Self-complexity (e.g., Linville)

4. Right-wing authoritarianism

5. The “object” in object relations theory

Essay questions

6. There were three kinds of potential nature-nurture interactions in terms of personality
formation: passive, evocative, and active. Please use your words to briefly explain each
kind of interactions and use one example each to illustrate the interactions (9 pbints).

7. Please use a) psychodynamic approach, b) trait approach, and ¢) social cognitive
approach to analyze the main suspect’s, Cheng Chieh’s, personality in committing the
2014 Taipei Metro attack. This is a guestion where you should show your general
understanding of these three approaches and to show your ability in applying theories to
understand people around you. Thus, it is essential that you provide me with a detailed
and in-depth answer (21 points).

8. Describe/explain the topic(s) that most attract you-in-personality psychology and offer
me with your reasons (5 points).

" B R i B X S P

—~RBEREAHR -




Bl a6 KB OV S5 EALIER A RRA |
%2R 0 %2R

2
ITEE S \sumnlansgn( 7 ) e

L B SV \
LA %1

Social Psychology (50 %)

Explaining the following terms (3 points each)
9. Social facilitation

10. Cognitive dissonance

11. Cut off reflected failure

12. Ironic processes

13. Covariation model (H. Kelley)

14. In the recent years, jury system has been considered to be incorporated with our
current legal system. Please use social psychological literature to argue your
stance. What are the pros and cons and based on which threads of social
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psychological literature (20 points)
15. There are two major theoretical approaches in accounting for mating selection:

evolutionary vs. sociocultural approaches. Please explain each approach’s view in

accounting for mating selection and state which approach that you are inclined to
on ,,(m(ls points)
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